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Von Karman equationS 18 HIEH = 0|23 Z0{2}.

D1 v fe | f={4.07LOG(NReRoot(f)-0.60}*-2
A B C D E F
1 N, = 100,000 f={4.07LOG(NReRoot(f)-0.60} A -2
2 initial value 0.01

3

f ={4.0710g(Ng./f)—0.60}
1/ %2 =4.0710g(Ng.+/ f )—0.60

1/ f ={4.0710g(Ng.+/ f ) —0.60}
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B4 v \ Je | =4.07*LOG($B$1*SQRT(A4))-0.6
A B C D E
1 Ny = 100,000 f={4.07LOG(NReRoot(f)-0.60}"-2
2 initial value 0.01
3 1/sqrt(f) 1/f f
4 0.0100000 1 5.6800000! 245.8624000 0.0040673
5
e — SSdx= - == e
c4 - @ fx | =B4*B4 fe | =1/C4
A B C C D
1 Nee = 100,000 ),000 f={4.07LC
2 initial value 0.01 0.01
3 1/sqrt(f) 1/f 1/f f
4 0.0100000 15.6800000 245.8624000_ 00000 245 8624000 0.0040673|
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A5 v fe | =D4
A B C D E
1 .= 100,000 f={4.07LOG(NReRoot(f)-0.60}"-2
2 initial value 0.01
3 1/sqrt(f) 1/f f
4 0.0100000 15.6800000 245.8624000 0.0040673
: 0.0040673 |
: =EEs = == - e “ BAEAN
B4 v \ fe | =4.07*LOG($B$1*SQRT(A4))-0.6
A B C D | : |
1 N = 100,000 f={4.07LOG(NReRoot(f)-0.60}"-2
2 initial value 0.01
3 1/sqrt(f) 1/f f
4 0.0100000 15.6800000 245.8624000 0.0*040‘673‘
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A B G D E F
N, = | 100,000 | f={4.07LOG(NReRoot(f)-0.60} A -2
initial value 0.01
1/sqrt(f) 1/f f
0.0100000 15.6800000 245.8624000 0.0040673

0.0040673 15.6800000 245.8624000 0.0040673
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A B C D E

1 Nie = 100,000 f=(4.07LOG(NReRoot(f)-0.60}A -2
2 initial value 0.01
3 1/sqrt(f) 1/f f
4 00100000 156800000  245.8624000 0.0040673
5 0.0040673 148849415 221.5614847 0.0045134
6 00045134 149769192 224.3081077 0.0044582
7 00044582 149660305  223.9820684 0.0044646
8 00044646 149673160 224.0205493 0.0044639
9 00044639 149671642 224.0160045 0.0044640
10 149671821 224016541 2
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100,000 0.001
1,000,000 0.01
1,000,000 0.001
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A B C D E E G H | J K L
1 N = 100,000 f={4.07LOG(NReRoot(f)-0.60}*-2
2 initial value 0.01
3 1/sqrt(f) 1/f f
4 0.0100000 15.6800000 245.8624000 0.0040673
5 0.0040673 14.8849415 221.5614847 0.0045134 |
6 0.0045134 14.9769192 224.3081077 0.0044582 |
7 0.0044582 14.9660305 223.9820684 0.0044646
8 0.0044646 14.9673160 224.0205493 0.0044639
) 0.0044639 14.9671642 224.0160045 0.0044640
10 0.0044640 14.9671821 224.0165412 0.0044640
11 initial value 0.001
12 0.0010000 13.6450000 186.1860250 0.0053710
13 0.0053710 15.1306577 228.9368022 0.0043680
14 0.0043680 14.9479787 2234420681 0.0044754
15 0.0044754 14.9694493 224.0844136 0.0044626
16 0.0044626 14.9669123 224.0084636 0.0044641
17 0.0044641 14.9672119 224.0174318 0.0044639
18 0.0044639 14.9671765 224.0163726 0.0044640
19 0.0044640 14.9671807 224.0164977 0.0044640
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[:JQ,) d9-c )= THAHE - Microsoft Excel
- = | &2 HoOoX ojofe 4] Hol HE &7| F2ls © -2 X
O A50Y mean v i =Sl [Faacsus B &) Zaen o db
EATNINA =M g oy A EEE(EE mvtated 25 W% o8 @ e T
g38c 2B Iy s HE
E28 - fe | =
A B @ D H | J K L 5
19 0.0044640 14.9671807 224.0164977 0.0044640
20
21 N, = 1,000,000
22 initial value 0.01
23 1/sqrt(f) 1/f
24 0.0100000 19.7500000 390.0625000 0.0025637
25 0.0025637 18.5470419 343.9927634 0.0029070
26 0.0029070 18.6581222 348.1255226 0.0028725
27 0.0028725 18.6475675 347.7317743 0.0028758
28 | 0.0028758 18.6485677 347.7690770 0.0028755
29 0.0028755 18.6484729 347.7655412 0.0028755
30 initial value 0.001
31 0.0010000 17.7150000 313.8212250 0.0031865
32 0.0031865 18.7392515 351.1595465 0.0028477
33 0.0028477 18.6398984 347.4458118 0.0028781 1
34 0.0028781 18.6492948 347.7961962 0.0028752
35 0.0028752 18.6484040 347.7629708 0.0028755
36 0.0028755 18.6484884 347.7661199 0.0028755
37
38
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gx)=0
x; = initial value
£ (x) = dg(x)/dx
& (xp) = {&(xg) — glx ) (x, — xy)
&gx,) =0
x, = xy— &(xp)/ & (xp)

Xo=x,—glx)g(x;)

Xo= Xpg-y ~ Blx,—1)/g'(x,-,)
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Newton's Method solution of 3.54=2+0.3x+0.07x”*2+0.004x~ 3

initial value 1 3.54
init flag FALSE
x0 0 "=|F(B6,B5,B11)"
g(x0) -1.54000 "=-1.54+0.3*B8+0.07*B8~2+0.004*B8~ 3"
g'(x0) 0.3 "=0.3+0.14*B8+0.012*B8~ 2"
x1 5.133333333 "=D8-D9/D10"
iteration number 1 "=|F(B6,0,B14+1)"
1 "=B13"




A B C D E F
»
2
3 |Newton's Method solution of 3.54=2+0.3x+0.07x*2+0.004x" 3
4
5 |initial value 1 3.54
6 init flag FALSE
8 |x0 2.879801314
9 |g(x0) 0.00000
10 g'(x0) 0.802691251
11 |x1 2.879801314
12 ]
13 |iteration number 8

14 8




